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[2] (b) First recall the trigonometric identity

csc2(x)− cot2(x) = 1.

Then the integral can be rewritten∫
[3 csc2(x)− 3 cot2(x)] dx = 3

∫
[csc2(x)− cot2(x)] dx

= 3

∫
dx

= 3x+ C.

[3] (c) Expanding the integrand yields∫
sec(u)[7 cos(u) + 2 tan(u)] du =

∫
[7 + 2 sec(u) tan(u)] du

= 7u+ 2 sec(u) + C.

[3] (d) Since ∫
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we have ∫
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[3] (e) Since ∫
x−10 dx =
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we can write ∫
6
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[3] (f) Since ∫
cos(t) dt = sinh(t) + C and

∫
csc2(t) dt = − cot(t) + C,

we have∫ [
cosh(1− 3t)− csc2
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[3] (g) First we rewrite the integrand as∫
e7x + 6ex

2e4x
dx =

∫ (
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2
e3x + 3e−3x

)
dx.

Now we can use the fact that ∫
ex dx = ex + C

and conclude that ∫
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